 WG C37.09a Capacitance Current Switching Test Procedure

Notes of meeting in Tucson September 21, 2004

The meeting was attended by 7 members and 15 guests.

Ballot Status:  Draft 11 was 98% affirmative with only one outstanding negative.

Draft 12 which addresed some of the negative comments is being recirculated right now with a closing date of October 15?

Additional changes:

The WG brought forward four additional issues for clarification:

1) Clarify the fact that For Voltages 362kV and higher the required voltage factor of 1.4  requires only 1/2 the number of tests for LC1 and LC2 (4.10.9.1.3  or 4.10.9.2.2)  This is technically covered by the parenthetical reference to Clause 4.10.9.4 a found in 4.10.7  but a note will be added for clarity under 4.10.9.1.3 and 4.10.9.2.2.

2) Under 4.10.9.3,  add a statement “ The test circuit used to demonstrate class C0 must be capable of producing multiple restrikes, and must provide sufficient energy to produce  damage to the interrupter from multiple restrikes, so that it is possible to fail the test.”

3) Clarification of the final paragraph under clause 4.10.9.1.1.6 and 4.10.9.1.2.5 covering the combining  of tests where multiple capacitance current switching ratings are assigned .  Add the verbiage as supplied by Franco LoMonaco’s email  Friday September 17, 2004: as follows

These test-duties may be combined in order to demonstrate the performance of a circuit-breaker for
covering several applications or ratings (e.g. LC and/or CC and/or BC). If such combination method
is used, the following rules apply:
- The test voltage, as defined in 6.111.7, shall be equal to the highest value for which the circuit breaker
performance is required to be demonstrated.
- The test-duties and test currents shall be as follows:
1) a test-duty 1, covering test-duties LC1 and/or CC1 and/or BC1, with a current between 10 %
and 40 % of the lowest capacitive current rating to be demonstrated;
2) a test-duty 2, covering test-duties LC2 and/or CC2 and/or BC2, with a current not less than
100 % of the highest capacitive current rating to be demonstrated;
3) if the required current to be used in test-duty 2 is exceeding 10 times the current value used
in test-duty 1, a test-duty 3 (I would write" A third test-duty" -note by Franco) shall be performed with a test current between 10 % and 40 % of
the test current for test-duty 2. For this test-duty 3 the testing procedures of the test-duties
LC1 and/or CC1 and/or BC1 apply;
4) the number of operations for each of the test-duties shall be the highest of those defined for
the ratings to be demonstrated (e.g. LC, CC or BC). Where CO operations are specified for
one application and O operations for a different one, CO operations are considered to cover O
operations if the testing conditions are the same.
4) Clarification of the last portion of clause 4.10.12.2 which covers the details of how a class C1 certification could be attained after failing the class C2 test.  (words to be provided by Denis Dufournet)

Draft 12 will be revised according to 1 - 4 above and recirculated as draft 13.  If that recirculation receives no negatives, then C37.90a D13 will be forwarded to RevCOM for IEEE Standards board approval.

Roy Alexander

Chair WG C37.09a

